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Question Id : 92090627634 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090627635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906109201. 1
920906109202. 2
920906109203. 3
920906109204. 4

Question Number : 2 Question Id : 92090627636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906109205. 1
920906109206. 2
920906109207. 3
920906109208. 4

Question Number : 3 Question Id : 92090627637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906109209. 1
920906109210. 2
920906109211. 3
920906109212. 4

Question Number : 4 Question Id : 92090627638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906109213. 1
920906109214. 2
920906109215. 3
920906109216. 4

Question Number : 5 Question Id : 92090627639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906109217. 1
920906109218. 2
920906109219. 3
920906109220. 4



Question Id : 92090627634 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090627635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906109201. 1
920906109202. 2
920906109203. 3
920906109204. 4

Question Number : 2 Question Id : 92090627636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906109205. 1
920906109206. 2
920906109207. 3
920906109208. 4

Question Number : 3 Question Id : 92090627637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906109209. 1
920906109210. 2
920906109211. 3
920906109212. 4

Question Number : 4 Question Id : 92090627638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906109213. 1
920906109214. 2
920906109215. 3
920906109216. 4

Question Number : 5 Question Id : 92090627639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906109217. 1
920906109218. 2
920906109219. 3
920906109220. 4

Sub-Section Number : 2



Sub-Section Id : 920906887
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090627640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906109221. 1
920906109222. 2
920906109223. 3
920906109224. 4

Question Number : 6 Question Id : 92090627640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906109221. 1
920906109222. 2
920906109223. 3
920906109224. 4

Question Number : 7 Question Id : 92090627641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906109225. 1
920906109226. 2
920906109227. 3
920906109228. 4

Question Number : 7 Question Id : 92090627641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906109225. 1
920906109226. 2
920906109227 3
920906109228. 4

Question Number : 8 Question Id : 92090627642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906109229. 1
920906109230. 2
920906109231. 3
920906109232. 4

Question Number : 8 Question Id : 92090627642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906109229. 1
920906109230. 2
920906109231. 3
920906109232. 4

Question Number : 9 Question Id : 92090627643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906109233. 1
920906109234. 2
920906109235. 3
920906109236. 4

Question Number : 9 Question Id : 92090627643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906109233. 1
920906109234. 2
920906109235. 3
920906109236. 4

Question Number : 10 Question Id : 92090627644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906109237. 1
920906109238. 2
920906109239. 3



920906109240. 4

Question Number : 10 Question Id : 92090627644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906109237. 1
920906109238. 2
920906109239. 3
920906109240. 4

Question Number : 11 Question Id : 92090627645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906109241. 1
920906109242. 2
920906109243. 3
920906109244. 4

Question Number : 11 Question Id : 92090627645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906109241. 1



920906109242. 2
920906109243. 3
920906109244. 4

Question Number : 12 Question Id : 92090627646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906109245. 1
920906109246. 2
920906109247. 3
920906109248. 4

Question Number : 12 Question Id : 92090627646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven 4) five
Options :

920906109245. 1
920906109246. 2
920906109247. 3
920906109248. 4

Question Number : 13 Question Id : 92090627647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906109249. 1
920906109250. 2
920906109251. 3
920906109252. 4

Question Number : 13 Question Id : 92090627647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906109249. 1
920906109250. 2
920906109251. 3
920906109252. 4

Question Number : 14 Question Id : 92090627648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906109253. 1
920906109254. 2
920906109255. 3
920906109256. 4

Question Number : 14 Question Id : 92090627648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906109253. 1
920906109254. 2
920906109255. 3
920906109256. 4

Question Number : 15 Question Id : 92090627649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

§))] Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906109257. 1
920906109258. 2
920906109259. 3
920906109260. 4



Question Number : 15 Question Id : 92090627649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906109257. 1
920906109258. 2
920906109259. 3
920906109260. 4

Question Number : 16 Question Id : 92090627650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

() BCGCAED (2) B.CEAD
3) CB.EAD 4) CAEBD
Options :

920906109261. 1
920906109262. 2
920906109263. 3
920906109264. 4



Question Number : 16 Question Id : 92090627650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E;, 385

Choose the correct answer from the options given below

(y BGCAED (2) B.CEAD
® GBEAD (4 CAEBD
Options :

920906109261. 1
920906109262. 2
920906109263. 3
920906109264. 4

Question Number : 17 Question Id : 92090627651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

()] Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906109265. 1
920906109266. 2
920906109267. 3
920906109268. 4



Question Number : 17 Question Id : 92090627651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906109265. 1
920906109266. 2
920906109267 3
920906109268. 4

Question Number : 18 Question Id : 92090627652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906109269. 1
920906109270. 2
920906109271. 3
920906109272. 4

Question Number : 18 Question Id : 92090627652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906109269. 1
920906109270. 2
920906109271. 3
920906109272. 4

Question Number : 19 Question Id : 92090627653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(g & (2) 22
(3) 23 4) 24
Options :

920906109273. 1
920906109274. 2
920906109275. 3
920906109276. 4

Question Number : 19 Question Id : 92090627653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2 22
(3) 23 4) 24
Options :

920906109273. 1



920906109274. 2
920906109275. 3
920906109276. 4

Question Number : 20 Question Id : 92090627654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGVY' then in the same code

Statement | - 'NORTH' will be written as ‘"MP5SVG' and

Statement I © "WATER' will be written as 'VCS5GS'

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906109277. 1
920906109278. 2
920906109279. 3
920906109280. 4

Question Number : 20 Question Id : 92090627654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906109277. 1
920906109278. 2
920906109279. 3
920906109280. 4

Question Number : 21 Question Id : 92090627655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906109281. 1
920906109282. 2
920906109283. 3
920906109284. 4

Question Number : 21 Question Id : 92090627655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906109281. 1
920906109282. 2
920906109283. 3
920906109284. 4

Question Number : 22 Question Id : 92090627656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B

is:

(1)  5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906109285. 1
920906109286. 2
920906109287. 3
920906109288. 4

Question Number : 22 Question Id : 92090627656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906109285. 1



920906109286. 2
920906109287. 3
920906109288. 4

Question Number : 23 Question Id : 92090627657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906109289. 1
920906109290. 2
920906109291. 3
920906109292. 4

Question Number : 23 Question Id : 92090627657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1 15% (2) 40%
(3) 71.5% 4) 20%
Options :

920906109289. 1
920906109290. 2
920906109291. 3
920906109292. 4

Question Number : 24 Question Id : 92090627658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc s

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906109293. 1
920906109294. 2
920906109295. 3
920906109296. 4

Question Number : 24 Question Id : 92090627658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc is

(Mm 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906109293. 1
920906109294. 2
920906109295. 3
920906109296. 4

Question Number : 25 Question Id : 92090627659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906109297. 1
920906109298. 2
920906109299. 3
920906109300. 4

Question Number : 25 Question Id : 92090627659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906109297. 1
920906109298. 2
920906109299. 3
920906109300. 4



Part B: Agro Forestry

Section Id : 920906548
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906888
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090627660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Salix alba is mainly planted for supply of wood for
1. Furniture industries
2. Cricket bat industries
3. Construction industries
4, Aromatic oil industries

Options :

920906109301. 1
920906109302. 2
920906109303. 3
920906109304. 4

Question Number : 26 Question Id : 92090627660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Sfca7 T ¥4 ¥ [y [ ddbdl & Wid & &4 H I 9l 2
. AR JERT

. Tohdbe s 3=
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Options :

920906109301. 1
920906109302. 2
920906109303. 3
920906109304. 4

B T

Question Number : 27 Question Id : 92090627661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Boron deficiency causes -
1. Yellowing of leaves
2. Heart Rot of cucurbits
3. Small leaf formation
4. Leaf thickening

Options :

920906109305. 1
920906109306. 2
920906109307. 3
920906109308. 4

Question Number : 27 Question Id : 92090627661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FNI7 &1 S § 1 8Idl 87
1. gfdl | didmoH
2. FPfae ABIE e
3. B2 g™l &1 F1
4. gl | "ermH

Options :
920906109305. 1
920906109306. 2



920906109307. 3
920906109308. 4

Question Number : 28 Question Id : 92090627662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Champion and Seth classified Indian forest into how many sub types.
1. 5
2. 16
3. 22
4. 24

Options :

9209061093009. 1
920906109310. 2
920906109311. 3
920906109312. 4

Question Number : 28 Question Id : 92090627662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=TT 3R U3 9 HRd & 941 &I feba YR A [Auifora f&an ur
1. §
2. 16
.98
4. 24

Options :

920906109309. 1
920906109310. 2
920906109311. 3
920906109312. 4

Question Number : 29 Question Id : 92090627663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Genetic purity can be maintained by
Tissue culture

Grafting

Cutting Plantation

Seed Production

o L

Options :

920906109313. 1
920906109314. 2
920906109315. 3
920906109316. 4

Question Number : 29 Question Id : 92090627663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HERIS Yl [HTD GRI HEH TH ol Fdhdl ©
1. Fad gadH
2. TG Ry
3. HaH YU
4. i IdeA

Options :

920906109313. 1
920906109314. 2
920906109315. 3
920906109316. 4

Question Number : 30 Question Id : 92090627664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kamela Powder is obtained from
1. Butea monosperma
2. Mallotus philippinensis
3. Lawsonia inerims
4. Accacia nilotica

Options :

920906109317. 1
920906109318. 2
920906109319. 3



920906109320. 4

Question Number : 30 Question Id : 92090627664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S UI3SR fad urd g 22
1. sgfean wHhregHf
2. AdeH fiEfcmred
3. @i sy
4. MBI Feafcar

Options :

920906109317. 1
920906109318. 2
920906109319. 3
920906109320. 4

Question Number : 31 Question Id : 92090627665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The main objectives of the measures of dispersion is/are -
1. To find the reliability of an average
2. To compare two or more set of data
3. To control variation of the data from central value
4. To control variability

Options :

920906109321. 1
920906109322. 2
920906109323. 3
920906109324. 4

Question Number : 31 Question Id : 92090627665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



URET & A &1 I e A8 /€ -
1. U 39d &1 faya-aar o4 & fe
2. QI ¥ sl & YTl Bl a1 & foy
3. H4IgaE 9 el B fafisd &1 Fdla 33 & fog
4. fafirra & fdfa &3 & foro

Options :

920906109321. 1
920906109322. 2
920906109323. 3
920906109324. 4

Question Number : 32 Question Id : 92090627666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plants growing in specific type of soil is called
1. Geographical Plant
2. Exotic Plant
3. Indicator Plant
4. Local Species

Options :

920906109325. 1
920906109326. 2
920906109327. 3
920906109328. 4

Question Number : 32 Question Id : 92090627666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9y UPHR &1 ga1 # I drd eyl 1 71 S il &
. MFiifer® arey

. digdl urey

. T Urey

. R wfeat

oW P =

Options :

920906109325. 1
920906109326. 2
920906109327. 3



920906109328. 4

Question Number : 33 Question Id : 92090627667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The species not suited for Industrial Plantation is / are -
Subabul

Poplar

Casuaring

Mahua

AN o=

Options :

920906109329. 1
920906109330. 2
920906109331. 3
920906109332. 4

Question Number : 33 Question Id : 92090627667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 urey v & foe B wifa Iuged 81 82
LCIEG

Lv)

1.

2. JIqeliR
3. hogRIE
4. Hgdl
Options :
920906109329. 1
920906109330. 2

920906109331. 3
920906109332. 4

Question Number : 34 Question Id : 92090627668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

LIST LIST Il
A. Project Tiger I. 1992
B. Project Lion 1.1973
C. Project Elephant 1.1972

D. Great Indian Bustard Project  1V.1993

Choose the correct answer from the options given below :
1. A-l, B-ll, C-lII, D-IV
2. A-lll, B-ll, C-I, D-1V
3. A-lll, B-1, C-ll, D-IV
4. A-lll, B-IV, C-, D-II

Options :

920906109333. 1
920906109334. 2
920906109335. 3
920906109336. 4

Question Number : 34 Question Id : 92090627668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | B g 1§ gAferd Sifre:

LIST | LIST Il
Ulelde TRTR . 1992
Uolae IR . 1973
Uroide grdt . 1972
I 3180 TS Uinlae IV. 1993

N w>

A-l, B-1l, C-1ll, D-IV
A-1lI, B-Il, C-I, D-IV
A-lll, B-1, C-1I, D-IV
A-lll, B-1V, C-I, D-1I

ol L

Options :

920906109333. 1
920906109334. 2
920906109335. 3
920906109336. 4



Question Number : 35 Question Id : 92090627669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leading State in Cashew nut production in India is -
1. Maharashtra
2. Kerala
3. Karnataka
4. Madhya Pradesh

Options :

920906109337. 1
920906109338. 2
920906109339. 3
920906109340. 4

Question Number : 35 Question Id : 92090627669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA § &9 It § ol T9 S 91 82
1. HERTY
2. I
3. ®UedH
4, AU

Options :

920906109337. 1
920906109338. 2
920906109339. 3
920906109340. 4

Question Number : 36 Question Id : 92090627670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as father of vital statistics?
1. John Graunt
2. Webster
3. Bowley
4, Kendall



Options :

920906109341. 1
920906109342. 2
920906109343. 3
920906109344. 4

Question Number : 36 Question Id : 92090627670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dI5ed Riefedq (il Jifeash) &1 9 & ol ordl 62
1. S b
2. de¥ex
3. d9I3d
4. Hsd

Options :

920906109341. 1
920906109342. 2
920906109343. 3
920906109344. 4

Question Number : 37 Question Id : 92090627671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fallow of usually 3 to 10 years and composed of shrub and young trees is
known as -

1. Grassland

2. Bush fallow

3. Forest fallow

4. Wood lot

Options :

920906109345. 1
920906109346. 2
920906109347. 3
920906109348. 4

Question Number : 37 Question Id : 92090627671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
920906109345. 1
920906109346. 2

920906109347. 3
920906109348. 4

R

Question Number : 38 Question Id : 92090627672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most commonly used water soluble preservative used by wood industries in
India is -

1. ASCU

2. Borax Boric Acid

3. DDT

4. CCZ

Options :

920906109349. 1
920906109350. 2
920906109351. 3
920906109352. 4

Question Number : 38 Question Id : 92090627672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H ddal I8N H a9 fie I94rT g1H ard o [qog URIe® S A1 ¢ -
1. p
2. dRdH 9 3
3. 1814
4. HHSE

Options :
920906109349. 1



920906109350. 2
920906109351. 3
920906109352. 4

Question Number : 39 Question Id : 92090627673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The basic purpose of the analysis of variance is to test the
Homogeneity of means

Heterogeneity of median

Range of mode

Variability

e S

Options :

920906109353. 1
920906109354. 2
920906109355. 3
920906109356. 4

Question Number : 39 Question Id : 92090627673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 STURYT I8 fahaadT udiequ &1 gidl &
1. HEUA/AE B Uh=gdl
2. fauwanmtere &t fafgear

3. 9gad B WH
4. Ta=vorditean (agem)

Options :

920906109353. 1
920906109354. 2
920906109355. 3
920906109356. 4

Question Number : 40 Question Id : 92090627674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

LIST | LIST Il

A. Tape |. Basal area

B. Abney level Il.Bark thickness

C. Relascope lll.Circumference of tree

D. Bark Guage IV.Tree height

Choose the correct answer from the options given below :
1. A-l, B-ll, C-1Il, D-1V
2. A-lll, B-ll, C-I, D-IV
3. A-ll, B-lll, C-l, D-IV
4. A-lll, B-1V, C-, D-I

Options :

920906109357. 1
920906109358. 2
920906109359. 3
920906109360. 4

Question Number : 40 Question Id : 92090627674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A | BTG 1@ ghfed Sifore:
BiGill LGl
Bl . 3R &=hd

A,

B. W& Il oI &I Hels
C. Reaw=pg . gy ooy
D. G HITMS Iv. J& B FHAS

1. A-l, B-ll, C-lll, D-IV

2. A-lll, B-1l, C-l, D-IV

3. A-ll, B-1Il, C-l, D-IV

4. A-ll, B-IV, C-I, D-I
Options :

920906109357. 1
920906109358. 2
920906109359. 3
920906109360. 4



Question Number : 41 Question Id : 92090627675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST | LIST Il
A. Foundation seed |. Blue
B. Registered seed Il. Yellow tag
C. Breeder seed ll. Purple tag
D. Certified seed  IV. White

Choose the correct answer from the options given below :
1. A-IV, B-l, C-lll, D-II
2. A-IV, B-lll, C-l, D-li
3. A-IV, B-llI, C-lI, D-
4. A-l, B-lll, C-ll, D-IV

Options :

920906109361. 1
920906109362. 2
920906109363. 3
920906109364. 4

Question Number : 41 Question Id : 92090627675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1R 1 gafed i
gl | Il

A. YR &9 . e
B. Udigd dlw II. UTdr ddd
C. UsH® die 1. ST dEd
D. WU s Iv. Hd

1. A-1V, B-l, C-lll, DI

2. A-IV, B-lll, C-1, D-Ii

3. A-IV, B-lil, C-li, D-I

4, A-l, B-lll, C-lI, D-IV

Options :

920906109361. 1
920906109362. 2



920906109363. 3
920906109364. 4

Question Number : 42 Question Id : 92090627676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement - | : Aerial seeding is carried out in difficult terrain and
unaccessable areas.
Statement - Il : Aerial seeding save money and manpower using seed
pelleting technigues.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109365. 1
920906109366. 2
920906109367. 3
920906109368. 4

Question Number : 42 Question Id : 92090627676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a A sy R E:
HYT 1 TS dio A9, HIET YT 3R 1A & & fa o g
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2. YA | 3R HUA || ST TTed §
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4. YT | TTed ¢ W DU 1| FEl §

Options :
920906109365. 1
920906109366. 2



920906109367. 3
920906109368. 4

Question Number : 43 Question Id : 92090627677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "D & D" was given by
1. Brandis
2. Nair
3. J. B. Raintree
4. Watson

Options :

920906109369. 1
920906109370. 2
920906109371. 3
920906109372. 4

Question Number : 43 Question Id : 92090627677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 3R 1 (D & D) Weg, fopwA fear ur?
1. difed
2. -4
3. W&l F e
4. drgHd

Options :

920906109369. 1
920906109370. 2
920906109371. 3
920906109372. 4

Question Number : 44 Question Id : 92090627678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can not defined rigidly?
1. Mean

2. Median

3. Mode

4. Arithmatic Mean
Options :

920906109373. 1
920906109374. 2

920906109375. 3
920906109376. 4

Question Number : 44 Question Id : 92090627678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffoad # 9§ 59 T 9 & gty =181 faear o 9arn
. HI
. Hifeant

dgdd

1
2
3
4. 7O A (FHIAR |Is)

Options :
920906109373. 1
920906109374. 2

920906109375. 3
920906109376. 4

Question Number : 45 Question Id : 92090627679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall occurrence of wind erosion could be described in how many
phases -
1

(W B N T T (S

2.
3.
4,
Options :

920906109377. 1
920906109378. 2



920906109379. 3
920906109380. 4

Question Number : 45 Question Id : 92090627679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3R (([d8 R &1 Fa fHaras a1 siawursii § aftfd far sn
Tl g7
1, 2

2 3
3. 4
4. 5

Options :

920906109377. 1
920906109378. 2
920906109379. 3
920906109380. 4

Question Number : 46 Question Id : 92090627680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The depth of medium gullies are
Less than 1 meter

1 to 5 meter

5to 10 meter

more than 10 meter

- ot

Options :

920906109381. 1
920906109382. 2
920906109383. 3
920906109384. 4

Question Number : 46 Question Id : 92090627680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEH el DI TS fba-i gldl &

1. 1A ADH

2. 19 5HeR

3. 5 10HIR

4. 10 Hiel T 3fd®
Options :

920906109381. 1
920906109382. 2
920906109383. 3
920906109384. 4

Question Number : 47 Question Id : 92090627681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Slow growing tree species produces high density wood.
Reason R : Slow growth of tree causes compactness of cell as well thickening
of cell wall in wood.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true and R is NOT the correct explanation of A.

3. Ais true but Ris false.

4. Ais false but R is true.

Options :

920906109385. 1
920906109386. 2
920906109387. 3
920906109388. 4

Question Number : 47 Question Id : 92090627681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fyareas $Y= A : i g $F ard g &t wifodi 3= gadre STy I
el
PRUIR:  d&l ¥ it 9fg & SR H18 B SIRH187 H Faar il 8 3R
ST FURi 7 Hierdt s g1
Sua HuHl & daH # 14 38 1 fawedl @ € wEt Iw g
1. ASIRREF A € IR R A Pl ol ARAT &
2. A SRR 94 g, dfb R, A B Ul IR 181 &
3. AU R IR 3T S
4, ASEIEWRRIA T

Options :

920906109385. 1
920906109386. 2
920906109387. 3
920906109388. 4

Question Number : 48 Question Id : 92090627682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dendrochronology concerned with
1. Age of Tree
2. Height of Tree
3. Biotic stress of Tree
4. Density of Tree

Options :

920906109389. 1
920906109390. 2
920906109391. 3
920906109392. 4

Question Number : 48 Question Id : 92090627682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jeiad BIaPH (SSpIare]) Fad e §

1. 98 & 3y

2. qY B FHUE

3. 94 W Sfds sarard
4. 4 &1 9T

Options :

920906109389. 1
920906109390. 2
920906109391. 3
920906109392. 4

Question Number : 49 Question Id : 92090627683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Institute of Forest Genetics and Tree Breeding located at
1. New Delhi
2. Coimbatore
3. Bengaluru
4. Mumbai

Options :

920906109393. 1
920906109394. 2
920906109395. 3
920906109396. 4

Question Number : 49 Question Id : 92090627683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g9 HFRIB] 3R g Uoi= I el f¥yd 87
- 3 fawt
. BIIEE
. dTS
- R

L

Options :

920906109393. 1
920906109394. 2
920906109395. 3



920906109396. 4

Question Number : 50 Question Id : 92090627684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of form factor and total height of tree is called -
Form quotient

Form height

Form factor

il i

Brandis factor

Options :

920906109397. 1
920906109398. 2
920906109399. 3
920906109400. 4

Question Number : 50 Question Id : 92090627684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BTH (FY9) $RS B IdIE R J& B Fd Sdls 71 Hedld ¢ -
1. B (&) OH
2. B () a1
3. B (FY) RS
4. #ifs9 oS

Options :

920906109397. 1
920906109398. 2
920906109399. 3
920906109400. 4

Question Number : 51 Question Id : 92090627685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Total area under agroforestry in India is
1. 12.1 million hectare
2. 284 million hectare
3. 32.8 million hectare
4. 422 million hectare

Options :

920906109401. 1
920906109402. 2
920906109403. 3
920906109404. 4

Question Number : 51 Question Id : 92090627685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd § S a1 & ofdiid fara- &3 82
1. 12.1 fAfoga gRIe
2. 284 fafermA g
3. 328 fafermA g
4. 422 fAfoga gR’m

Options :

920906109401. 1
920906109402. 2
920906109403. 3
920906109404. 4

Question Number : 52 Question Id : 92090627686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Well known wood preservative "ASCU" was developed in
1. USA
2. Germany
3. India
4. Japan

Options :

920906109405. 1
920906109406. 2
920906109407. 3
920906109408. 4



Question Number : 52 Question Id : 92090627686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fareTa 18 WRefl aRG Fel [aaid o mar o
1. UYL,
2. ot
3. YRd
4. WI9H

Options :

920906109405. 1
920906109406. 2
920906109407. 3
920906109408. 4

Question Number : 53 Question Id : 92090627687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Taungya is derived from
1. French word
2. Greek word
3. Burmees word
4. English word

Options :

920906109409. 1
920906109410. 2
920906109411. 3
920906109412. 4

Question Number : 53 Question Id : 92090627687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Wex fHad ad gan g
. Thd Usg

. Ui g

. o g

. 3ol Ut

Options :

920906109409. 1
920906109410. 2

920906109411. 3
920906109412. 4

P =

Question Number : 54 Question Id : 92090627688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean annual increment is
1. Always positive
2. May be zero
3. May be negative
4. Always negative

Options :

920906109413. 1
920906109414. 2
920906109415. 3
920906109416. 4

Question Number : 54 Question Id : 92090627688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 aifties sgradt e gt 8
1. Hed gATHD
2. YT gl g
3. BRI &l 9Pl &
4. T BUTHD

Options :

920906109413. 1
920906109414. 2
920906109415. 3



920906109416. 4

Question Number : 55 Question Id : 92090627689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Heartwood are less permeable than softwood.
Reason R : Heartwood are mainly composed of dead cells.
In the light of the above statements, choose the correct answer from the
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R is NOT the correct explanation of A.
3. As true but R is false.
4. Ais false but Riis true.

Options :

920906109417. 1
920906109418. 2
920906109419. 3
920906109420. 4

Question Number : 55 Question Id : 92090627689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIaTd® FYF A - 3id: BTY, T 1Y U FH YR gl gl
PRUTR:  3id: Y TEId: Jd HIRAG1M $ &1 il g
Sudad HYAl & ed # 4 38 1 fawedl # 9 wet S g

1. ASMRRIF T E AR R, A I T8I AR 8

2. AJRREH Ud §, BT R A D Ugl TAT TS &

3. AN g R R 3T §

4. ASEAERGRIA S

Options :

920906109417. 1
920906109418. 2
920906109419. 3
920906109420. 4

Question Number : 56 Question Id : 92090627690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Microclimatic modification of forest is a type of :
1. Direct role
2. Indirect role
3. Neutral
4. Absoclute zero
Options :
920906109421. 1
920906109422. 2
920906109423. 3
920906109424. 4

Question Number : 56 Question Id : 92090627690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 &1 Y& Siaarg URdd- &1 U bR §?
1. Ucae i

2. YUY fHehT
3. JqiH

4. Y&

Options :

920906109421. 1
920906109422. 2
920906109423. 3
920906109424. 4

Question Number : 57 Question Id : 92090627691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of forest has highest geographical area in India.
1. Tropical forest
2. Subtropical forest
3. Temperate forest
4. Alpine forest

Options :
920906109425. 1
920906109426. 2



920906109427. 3
920906109428. 4

Question Number : 57 Question Id : 92090627691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd H {59 R & g gaiids Hrifas &3 7 82
1. IWHfcdg a1
2. JUWHicdg a1
3. Siidmorad
4. TEREAT

Options :

920906109425. 1
920906109426. 2
920906109427. 3
920906109428. 4

Question Number : 58 Question Id : 92090627692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of correlation coefficient ranged between
0to 05

Oto1

0to -1

—110 +1

ol o Ry

Options :

920906109429. 1
920906109430. 2
920906109431. 3
920906109432. 4

Question Number : 58 Question Id : 92090627692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TeHdt ulid & HH BT WM fha- gidl &2
1. 0905

2. 081

3. 0=
4. -19 +1
Options :
920906109429. 1
920906109430. 2

920906109431. 3
920906109432. 4

Question Number : 59 Question Id : 92090627693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correlation between two variables can be measured by
Scatter diagram method
Rank method
Karl Pearson’'s method
. ANOVA method
. By central tendency
Choose the correct answer from the options given below :
1. AandB
2. A BandC
3. B.Cand D
4. DandE

M By

Options :

920906109433. 1
920906109434. 2
920906109435. 3
920906109436. 4

Question Number : 59 Question Id : 92090627693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 F o1 Teuey P fud gRI AN off 9&dl g
A. USHIf 3R fafy
B. ¥& faf¥
C. ®Td Ry fafy
D. e fafy
E. &< Ugfd g
13 38 md fawedl # 9 |el 3w g
1. ASIRB
2. A B3IRC
3. B,C3IRD
4. D3IIRE

Options :

920906109433. 1
920906109434. 2
920906109435. 3
920906109436. 4

Question Number : 60 Question Id : 92090627694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about non-parametric tests?
Sample observations are independent.

The variables under study is continuous.

Mean and variance of the distribution exist.

Parameters of the population known.

Probability density is not continuous.

moOwpe

Choose the correct answer from the options given below:
1. A, Band C correct
2. Band C correct
3. C, D and E correct
4. Only B correct

Options :

920906109437. 1
920906109438. 2
920906109439. 3
920906109440. 4

Question Number : 60 Question Id : 92090627694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

frofafaa & 9§ @1 3 sy R-uEfts tian & amen #3d §2
. AT Y& W € 8
A & Fd G R Add eld &
. TareRor & wren 3R vRRY RAemFE B9 8
. gAP F AFUS B &
. HYIfaaT 99 Udd 8 gl
I 58 M faeedl 1 ¥ 98l IR g
1. A B3RC
2. B3RC
3. C,D3IRE
4. HddB

Options :

920906109437. 1
920906109438. 2
920906109439. 3
920906109440. 4

I

m Qoo

Question Number : 61 Question Id : 92090627695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tree diameter in European countries measured at -
1. 1.30 meter
2. 1.37 meter
3. 1.42 meter
4. 1.39 meter

Options :

920906109441. 1
920906109442. 2
920906109443. 3
920906109444. 4

Question Number : 61 Question Id : 92090627695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UG S A & &1 A fohe= R HIYT STl § -

1. 130 HiR
2. 1.37 HIR
3. 142 HR
4, 139 HIR

Options :

920906109441. 1

920906109442, 2

920906109443. 3
920906109444. 4

Question Number : 62 Question Id : 92090627696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Brown rot fungi consumes which component of wood.
1. Cellulose
2. Cellulose and Lignin
3. Pectin
4. Lignin
Options :
920906109445. 1
920906109446. 2
920906109447. 3
920906109448. 4

Question Number : 62 Question Id : 92090627696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R C (ERVT) HdD, HIY & ¥ geh &I JUHT Hd &
1. Ogdrs
2. At SR farfm
3. Ofdeq
4. fafeA

Options :

920906109445. 1
920906109446. 2
920906109447 3



920906109448. 4

Question Number : 63 Question Id : 92090627697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On slopy land, Tree DBH is measured on
1. Low hill side
2. Up hill side
3. Along the axis of tree
4. Above breast hight

Options :

920906109449. 1
920906109450. 2
920906109451. 3
920906109452. 4

Question Number : 63 Question Id : 92090627697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ga ardl YA W g8 &1 S16l.ug. fg SR & Arar ST €2
1. =<l Ugrs! arell dkw
2. Fd ugrel ardl %
3. Y H G P Y
4. B P HAR & IR

Options :

920906109449. 1
920906109450. 2
920906109451. 3
920906109452. 4

Question Number : 64 Question Id : 92090627698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of sustainability was first came in the year.
1. 1967
2. 1973
3. 1987
4. 1988

Options :

920906109453.
920906109454.
920906109455.
920906109456.

AW N —

Question Number : 64 Question Id : 92090627698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 1 Hdheaa1 UyH aR foy ay i ardi?
1. 1967
2. 1973
3. 1987
4. 1988

Options :

920906109453. 1
920906109454. 2
920906109455. 3
920906109456. 4

Question Number : 65 Question Id : 92090627699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standards of weight and measures Act came into force in
1. 1956
2. 1966
3. 1976
4. 1986

Options :

920906109457. 1
920906109458. 2
920906109459. 3



920906109460. 4

Question Number : 65 Question Id : 92090627699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d1e 3R HIY HES AT H9 ugnT § @rm
1956
1966
1976
1986

-t

Options :

920906109457.
920906109458.
920906109459.
920906109460.

AW N =

Question Number : 66 Question Id : 92090627700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Smalian's formula is used for volume calculation of
Cylinder

Cone

Paraboloid

Neiloid

-

Options :

920906109461. 1
920906109462. 2
920906109463. 3
920906109464. 4

Question Number : 66 Question Id : 92090627700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WieA T [ud maaa & siiad & o vgad eiaT 87
1. ffeisR @@)
2. B (TP)
3. WEEEs
4. Aidiss

Options :

920906109461. 1
920906109462. 2
920906109463. 3
920906109464. 4

Question Number : 67 Question Id : 92090627701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pyramid of energy in food chain is
Upright

Inverted

Upright and Inverted both
Always flat

il ol b

Options :

920906109465. 1
920906109466. 2
920906109467 3
920906109468. 4

Question Number : 67 Question Id : 92090627701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT JEdr ¥ Sl &1 fURfirs &1 gidl 82
1. Hiem
2. I
3. T 3R Iee1 gl
4. Fed 9ue]

Options :

920906109465. 1
920906109466. 2
920906109467 3



920906109468. 4

Question Number : 68 Question Id : 92090627702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Common bread wheat is
1. Diploid
2. Triploid
3. Tetrapoloid
4. Hexapoloid

Options :

920906109469. 1
920906109470. 2
920906109471. 3
920906109472. 4

Question Number : 68 Question Id : 92090627702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR S a1 71 1 8T 82
1. T
2. Bfora
3. I
4. W

Options :

9209061094609. 1
920906109470. 2
920906109471. 3
920906109472. 4

Question Number : 69 Question Id : 92090627703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Growing more than one crop on the same piece of land with each crop
during different time of the year is -

1. Cropping calendar

2. Cropping pattern

3. Cropping sequential

4. Cropping system

Options :

920906109473. 1
920906109474. 2
920906109475. 3
920906109476. 4

Question Number : 69 Question Id : 92090627703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 9 S BUdl &1 U gl YA & Ths R I orgd vl Bod a8 &
fira- firs v & SR STt STl €, 39 R Fed 67

HUd Hael

B UOTEt

B HiD

HHd o

L B el

Options :

920906109473. 1
920906109474. 2
920906109475. 3
920906109476. 4

Question Number : 70 Question Id : 92090627704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most common type of disease in forest nurseries is -
1. Root cutter
2. Damping off
3. Leaf defoliation
4. Leaf Yellowing

Options :
920906109477. 1



920906109478. 2
920906109479. 3
920906109480. 4

Question Number : 70 Question Id : 92090627704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STard THRaT § 99y 31U fH9 UsR &1 39 8idl 87
1. Hd Hex
2. 3% UaH
3. TR BT HAS
4. Uil &1 diang

Options :

920906109477. 1
920906109478. 2
920906109479. 3
920906109480. 4

Question Number : 71 Question Id : 92090627705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Agar wood oil is obtained from
Cinnamomum zeylanica
Gaultheria Fragrantissima
Agquilaria agallocha
Cymbopogon nardus

-l

Options :

920906109481. 1
920906109482. 2
920906109483. 3
920906109484. 4

Question Number : 71 Question Id : 92090627705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R HTY [y U g1di 8
1. R fordAer
2. Tiedfw BaRTeiaEr
3. Uhdidial sfeiEr
4, RpENrE 759

Options :

920906109481. 1
920906109482. 2
920906109483. 3
920906109484. 4

Question Number : 72 Question Id : 92090627706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Minimata disease was caused by -
1. Cd pollution
2. Zn pollution
3. Hg pollution
4. Pb pollution

Options :

920906109485. 1
920906109486. 2
920906109487. 3
920906109488. 4

Question Number : 72 Question Id : 92090627706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fErTHICT 2 fa HRoT 9 gl 82
1. Cd UgHU
2. Zn UgHUI
3. Hg UgHU
4. Pb UgHU

Options :

920906109485. 1

920906109486. 2
920906109487. 3



920906109488. 4

Question Number : 73 Question Id : 92090627707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First forest policy of Independent India is
1. 1894 policy
2. 1952 policy
3. 1988 policy
4. 2014 policy

Options :

920906109489. 1
920906109490. 2
920906109491. 3
920906109492. 4

Question Number : 73 Question Id : 92090627707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dd HRd $1 UyA o4 ifd o4 W 87

1. 1894 Hifa
2. 1952 Hifd
3. 1988 Hifd
4. 2014 Hifd

Options :

920906109489. 1

920906109490. 2

920906109491. 3
920906109492. 4

Question Number : 74 Question Id : 92090627708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Exotic species under agroforestry performing better than
indigenous species.
Reason R : Exotic species has high carbon sequestration potential but many
species has negative impact on envrionment.
In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

Options :

920906109493. 1
920906109494. 2
920906109495. 3
920906109496. 4

Question Number : 74 Question Id : 92090627708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s FUF A - H aiH] & siarfd s s, S sl $1 gan d
331 B BB B
SRR : GT&l Sl § 3e dra-1 SATEgr &l el & | IR a8 dgd 91
Sfad! vafawu] R TERIAS UHd STl 6 |
IR el 3 e A A1 R 7 Rt 7 @ Wl gw g
1. A SRR I U € 3R R, A I Ug! RS &
2. ARREHI U € AfFTR A DI Ul ST 81 ¢
3. AGTE RGR AT 2
4, AT ERGRIT

Options :

920906109493. 1
920906109494. 2
920906109495. 3
920906109496. 4

Question Number : 75 Question Id : 92090627709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : VAM is a type of symbiotic association between root of higher
plants and fungi.
Reason R : VAM causes lesser permeability and absorption of nutrients.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.

3. Ais correct but R is not correct.

4. A is not correct but R is correct.

Options :

920906109497. 1
920906109498. 2
920906109499. 3
920906109500. 4

Question Number : 75 Question Id : 92090627709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ferares SY A dLUTH. (d9), 3= T uieyl &1 J81 3R Had| & aid Uh

UHR &l Ygoid Hae g
PRUIR: dIUAL (H) & HRU UYD] B YRR 3R G0 HH 8l Sl
gl

Suded HyAl & g # 19 0 T A § 9 Wt I AT
1. ARRA T E IR R A &I Yol ST @
2. AMRRIA UG € BT R A DI Tel A el 8
3. AN E IR AT T
4. AT E RORIA®

Options :

920906109497. 1
920906109498. 2
920906109499. 3
920906109500. 4

Question Number : 76 Question Id : 92090627710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A: Agroforestry is always profitable compared to monocropping.
Reason R : The chances of total failure of crop is less in agroforestry.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is NOT the correct explanation of A.

3. Ais correct but R is not correct.

4. A is not correct but R is correct.

Options :

920906109501. 1
920906109502. 2
920906109503. 3
920906109504. 4

Question Number : 76 Question Id : 92090627710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAsaTeTs $YF A : UF HEA UUITel! Bt ga-l J Hiai-st Hod arHead
wgl
PRUIR: SN AD! T GHADI0 B [dH el & S/aeRk AL 8 |
Iuged Sl & e A 2 el 12 faspedl 7 O Ul I YT
1. AR RIA T E R R, A I Tel ATST &
2. AARREF TAE ARFBTR A P T T AT @
3. AN W R3HA
4., AT E R RULT E
Options :
920906109501 1
920906109502. 2

920906109503. 3
920906109504. 4

Question Number : 77 Question Id : 92090627711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Soft wood are generally derived from conifers.
Reason R : There is no correlation of softness or hardness with conifers and
broad leaves species.
In the light of the above statements, choose the most appropriate answer
from the options given below :
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct
4. A is not correct but R is correct.

Options :

920906109505. 1
920906109506. 2
920906109507. 3
920906109508. 4

Question Number : 77 Question Id : 92090627711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YOS FYF A : DI BT (G0 48) IHRIG: Hur 9afi ¥ ogad
gl &1
PRUIR: HHAd A1 HARAI BT AHUR SR A1S1 Uxiiarad! Sidl & a1y dig
RECEG ]
Iudrd Syl & Hau # 4 e 1 faseul 7 @ ¥t S ghT
1. ARREAI U € 3R R, A P U ArSAT @
2. A SRR 94 §, dfd R, A o1 9l ARSI T8l @
3. AN WIR M §
4. AMIATRJRITE

Options :

920906109505. 1
920906109506. 2
920906109507. 3
920906109508. 4

Question Number : 78 Question Id : 92090627712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other
is labelled as Reason R :
Assertion A : Forest trees play major role in mitigation of impact of climate
change.
Reason R : Many tree species raised for sericulture, laculture and apiculture
under agroforestry system.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is NOT the correct explanation of A.

3. Ais true but R is false.

4. Ais false but R is true.

Options :

9209061095009. 1
920906109510. 2
920906109511. 3
920906109512. 4

Question Number : 78 Question Id : 92090627712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYaTE® FYT A 71 & 98, Saarg URadH & UHId B HH S H =
et v 81
PRUIR: dgd 4l Sfadl, a4 HatH, TRg ae iR AyHRd! gra- & o S
qiT o & i SRR St B
e HYHl & daH 7 1 38 7 fawedi # ¥ w8t IwWw g
1. ASRREH A€ 3R, A B Ug! ARAT &
2. AR REH A g, Wl R, A & Ug! RS T8l
3. AUUR WRITIE
4, AMAETRGRIAT

Options :

920906109509. 1
920906109510. 2
920906109511. 3
920906109512. 4

Question Number : 79 Question Id : 92090627713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Growing more than one crop on the same piece of land at same time is -
Mixed Farming
Mixed Cropping
Multiple Cropping
Mixed Gardening
. Multistorey Cropping
Choose the correct answer from the options given below :
1. Only A
2. OnlyB
3. BCandD
4 BandE

mQnwe

Options :

920906109513. 1
920906109514. 2
920906109515. 3
920906109516. 4

Question Number : 79 Question Id : 92090627713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 8l 9§ UF YA & The R TP SifUF Byal Bl I &
A, Tfsra wdi
B. fafgrd wad
C. ¥gd ®Bad
. forfera Ienfet
E. dgHuldl BUd
19 30 78 fashedi # ¥ wel 39 g
1. $adA
2. $ddB
3. B,C3IRD
4. B3IRE

Options :

920906109513. 1
920906109514. 2
920906109515. 3
920906109516. 4

Question Number : 80 Question Id : 92090627714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The usual scale present in Haga Altimeter are -
15
20
25
30
¢ b
Choose the correct answer from the options given below :
1. AandB
2. A BandC
3. ABCandD
4 A B CDandE

e B

Options :

920906109517. 1
920906109518. 2
920906109519. 3
920906109520. 4

Question Number : 80 Question Id : 92090627714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

27 U iHieR H Juieyd 9THrg U0 1 9 &
A. 15
20
25
30
, 35
e 58 14 fosedl & 9 9El IWR 9T
1. A3IRB
2. A B3IRC
3. A B C3RD

4. Iqdad ait

Options :

920906109517. 1
920906109518. 2
920906109519. 3
920906109520. 4

me ey



Question Number : 81 Question Id : 92090627715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the requisites of measure of central tendency?
It should not based on all observations.
It should be rigidly defined.
It should be easy to calculate.
It should be suitable for further mathematical treatment.
It should be affected much by extreme observations.
Chnose the correct answer from the options given below :
1. A, BandC
2. BbCand D
3. AABCandD
4. B,C,DandE

nm e

Options :

920906109521. 1
920906109522. 2
920906109523. 3
920906109524. 4

Question Number : 81 Question Id : 92090627715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St uafl & A9 F fou 5y 1 srawgedr gidl 82
A. T8 TR qHd&ul o Ui A8l i 9iev|

B. Ug T ¥4 H uRHIfSd g+ 9l

C. U8 M ¥ Sfidhfd &I oH arelt gt arfgu|

D. T8 M & 7Kg sodeR & fow Iugerd g Afgul
E. U 9H Y43l & GRI S{TE1ied UHIfad st el
A2 AR e 3 a8 SR gRT:

A B3R C

B, C 3R D

A, B, C3RD

B,C,D3IRE

i

Options :

920906109521. 1
920906109522. 2
920906109523. 3



920906109524. 4

Question Number : 82 Question Id : 92090627716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only floating national park of India is -

A. Corbett

B. Manas

C. Keoladeo Ghana

D. Keibul Lamjao

E. Gulf of Mannar

Choose the correct answer from the options given below :
1. Aand B only
2. Band Conly
3. C,DandE only

4. Donly

Options :

920906109525. 1
920906109526. 2
920906109527. 3
920906109528. 4

Question Number : 82 Question Id : 92090627716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WRT BT/ Had Rl TP I B /A 3-
A. Plde
B. HIFY
C. &ddiad gMI
D. PIZdd AHIS
E. HIR &l Grel
4 G i fasedl & 9 9Et SWR 9T
1. HadA 3R B
2. HadB 3R C
3. $aaC, D RE
4, HddD

Options :
920906109525. 1
920906109526. 2



920906109527. 3
920906109528. 4

Question Number : 83 Question Id : 92090627717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Live stock production system in which the animals are fed in pens or other
confidential areas and are not permitted to graze is called -
A. Stall feeding
Zero grazing
Normal feeding
Wild feeding
. Onfarm feeding
hoose the correct answer from the options given below :
1. AandB
2. A, BandC
3. ADandE
4. OnlyB

moOo

™y

Options :

920906109529. 1
920906109530. 2
920906109531. 3
920906109532. 4

Question Number : 83 Question Id : 92090627717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ug] ¢ Ied1g- DI dg WoTTel forad gl &1 gelial § faeman iran & ar s
Mot & § I8 IR B ST A8l & | 39 UDR &1 a1 1 dgdrdl 87
A, T HIGH HI[
B. I AR
C. HHR MG 10
D. &g HIGH R0
E. Wdigd HIsH {0
i & 18 faseul & 4 Wt I g
1. A3IRB
2. A B3RC
3. AD3IRE
4. HddAB

Options :

920906109529. 1
920906109530. 2
920906109531. 3
920906109532. 4

Question Number : 84 Question Id : 92090627718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which species is suitable for soil conservation under shelterbelt
A. Acacia arabica
B. Casuvarina equisetifolia
C. Gliricidia maculate
D. Tectona grandis
E. Shorea robusta
Choose the correct answer from the options given below :
1. AandB
2. A,BandC
3. CandD
4, C,DandE

Options :

920906109533. 1
920906109534. 2
920906109535. 3
920906109536. 4



Question Number : 84 Question Id : 92090627718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIeedee (HIYY Ug) & Sf=id, HaT W& & fore o1 i sifaai 3uge gidl 82
P SRTTHT
SRS FPAHT BT
FafRiifear dgder
Ca Fsy
. v deaeer
2 3 M foeedl & 4 Hel SWR g
1. AR B
2. AB3RC
3. C3RD
4, C,D3INE

m g e

Options :

920906109533. 1
920906109534. 2
920906109535. 3
920906109536. 4

Question Number : 85 Question Id : 92090627719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : Damage caused by insect pest in agroforestry system is
negligible.
Statement Il : Cultural operation is very necessary for higher yield and
growth of both components of Agroforestry system.
In the light of the above statements, choose the most appropriateanswer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109537. 1
920906109538. 2
920906109539. 3



920906109540. 4

Question Number : 85 Question Id : 92090627719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#4  Py fRu MU §:

Y| HN aIHD! HonTel! J e Higd! gRI &1 Tt g1 10 €|

YA 11 PN AHD! YUl & ST ged! it 3= U9, 3R Iig & R Hf
T S TSP g

IRIFd HYF & a1, i fu U ol § ¥ gad Iuged S & 994

BifoTT:

HYA | 3R BYA 1| I TG B

HUF | 3R YA 1| S TTedd &

HYF | Tl & TR HY 11 7Tad §

HYF | Tad § g DY 1 TET 8

el L

Options :

920906109537. 1
920906109538. 2
920906109539. 3
920906109540. 4

Question Number : 86 Question Id : 92090627720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : India has adopted National Agroforestry Policy in 2014.
Statement Il : Many countries has already have their agroforestry policies.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109541. 1
920906109542. 2
920906109543. 3
920906109544. 4



Question Number : 86 Question Id : 92090627720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3§ By RRu MU &:

®Y | R A AP Fivar=! ifd &1 2014 7 sro=mn|

®YF Il : §gd U o T ugd F & 391 Hiarfs! -fifcai g1

SWRITd HYA & fTdls 1, i U U fodpedi & ¥ s Iugad I &I 994
BIfoe:

HY | IR HY 1| S T &

HY | 3R HYA || & Tad &

HYF | UEI § IRg HYF 1| TTAd §

HY | TTcAd & TR DY 11 HEl

P AL P e

Options :

920906109541. 1
920906109542. 2
920906109543. 3
920906109544. 4

Question Number : 87 Question Id : 92090627721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : Exotic species like fucalyptus and Poplar are most suitable
species for agroforestry practices.
Statement Il : fucalyptus and poplar plantation are being promoted in all
states of India.
In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

4. Statement | is incorrect but Statement Il is correct.

Options :

920906109545. 1
920906109546. 2
920906109547 3
920906109548. 4



Question Number : 87 Question Id : 92090627721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A sy R E:

HYF 1 TR SMfagi S B gHTapy 3R IR, Hiare w=e & g
Y Iugad g |

FU I : GH AP 3R GYAR & TR0 S YR S I+ a0 § Urearg= fean
BRG]

ST $YA & 3fTdid §, A 30 MU A # 9 Had Sugad Swx &1 991

Hif:

HY | 3R B 11 S & B

FYF | 3R FY 11 &I TTAd &

HYA | TEl § U] HYA 11 TTed &

Y | 7Ted § R DY 11 T8l &

Pt P =

Options :

920906109545. 1
920906109546. 2
920906109547 3
920906109548. 4

Question Number : 88 Question Id : 92090627722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement | : Every year 2" February is celebrated as World Wetland Day,
which marks the date of signing of Ramsar Convention on Wetlands.
Statement Il : Ramsar convention on Wetland was signed in 1974.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement |l are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109549. 1
920906109550. 2
920906109551. 3



920906109552. 4

Question Number : 88 Question Id : 92090627722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP RTMUE:
YT TS N 2 BIa DI Ay 31 YA Gaw w-m S 81 98 o YA
TR IHER T R gEeR &1 faaq ol

YT I 3MTs Y IR THER IR W 1974 T gwIER gl

SIIH $Y & TdID 4, A1 QU U fadedl & & Tad Suga % &1 994
BIfoIe:

HY | 3R HYF 1| T Tl &

@Y | 3R HU || G Tad &

HY | 91 € W dYA || T §

HYF | TTd § R DY 1 9l &

ol

Options :

920906109549. 1
920906109550. 2
920906109551. 3
920906109552. 4

Question Number : 89 Question Id : 92090627723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement | : According to Myers etal, the updated number of hotspots are
34 in world.
Statement Il : Indian landmass incorporates 4 hotspots out of 34 globally.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109553 1
920906109554. 2
920906109555. 3
920906109556. 4



Question Number : 89 Question Id : 92090627723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#  HyA lGu MU &:

HYF | HUR UC 31d & 39R, [3y ¥ gfc wWic of e 34 2

®YF 11 : 3 34 3P gie Wie ¥ ¥ yRd Y &3 1, 4 gfc wWie g

SURIdd YA & el 1, A U U fadwedl & ¥ 9ad Iuged SR &I 994
PIfe:

HUA | 3R HYA 1| ST T &

HY | 3R HYA || &1 Tad &

HUF | FE & g HYF 1| TTTd §

HYF | TdAd & TR Y 1| 98l 8

ol

Options :

920906109553. 1
920906109554. 2
920906109555. 3
920906109556. 4

Question Number : 90 Question Id : 92090627724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :
Statement | : The concept of megadiversity center was introduced by
Mittermeir and Werner in 1990.
Statement Il : There are 10 megadiversity regions have been recognized
globally.
In the light of the above statements, choose the correct answer from the
options given below:

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false.

3. Statement | is true but Statement Il is false.

4. Statement | is false but Statement Il is true.

Options :

920906109557. 1
920906109558. 2
920906109559. 3
920906109560. 4



Question Number : 90 Question Id : 92090627724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 F e Rumu
®YF | ;a2 Safafded s B Yhed & AR SR R A 1990
URIfad faar Tl

YT 11 : 3y T 10 faena Safafawdr &1 &1 7 T 8|

IWRIH $Y & fTdId 3§, A1 QU U fapedl T 3 gad Iuga I) &1 9494
GAEIE
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Options :

920906109557. 1
920906109558. 2
920906109559. 3
920906109560. 4

Question Number : 91 Question Id : 92090627725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The main principle of Stockholm conference is called as -
Montreal Protocol
Magna Carta of Environment
Earth Summit
Copenhagen Meeting
. Vienna Convention
hoose the correct answer from the option given below :
1. Aand B only
2. Band Conly
3. C,Eand D only
4. Bonly

moN®m

)

Options :

920906109561. 1
920906109562. 2
920906109563. 3
920906109564. 4



Question Number : 91 Question Id : 92090627725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CiheIH GRIaH &1 H& Jeg 1 Ul
giaul H1 BATHIe]
31 gitre (gt edan)
. BIUAeH Hifew
. o awE
9 fau v fasedl ¥ wel IWR g
1. Hdd A 3B
2. HAAB AR C
3. PAAC E AR D
4. $HddB
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Options :

920906109561. 1
920906109562. 2
920906109563. 3
920906109564. 4

Question Number : 92 Question Id : 92090627726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First stable product in C4 plants during the photosynthesis
A. PGA
OAA
NADPH:
NADP
. Glyceric Acid
Choose the correct answer from the option given below :
1. Aonly
2. Bonly
3. Conly
4. Dand E only

ki) B

Options :

920906109565. 1
920906109566. 2
920906109567 3



920906109568. 4

Question Number : 92 Question Id : 92090627726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YHT LAYl SR C4 ISl & Wy Rl Iare o1 il 8
PGA
OAA
NADPH,
NADP
. Terafts s
-9 fod T fowedl # 9 Wt gux g
1. Sdd A
2. HddB
3. HadC
4, HAADIIRE

moN® P

Options :

920906109565. 1
920906109566. 2
920906109567. 3
920906109568. 4

Question Number : 93 Question Id : 92090627727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

United Nation Conference on Environment and Development (UNCED) was
held on -
A. January 1992
B. March 1992
C. June 1992
D. December 1992
Choose the most appropriate answer from the option given below :
1. Aonly
2. B and D only
3. AandB only
4. Conly

Options :
920906109569. 1
920906109570. 2



920906109571. 3
920906109572. 4

Question Number : 93 Question Id : 92090627727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faRur 3R [T U HgeR AP YIS e g3 ol -
A S 1992
B. HId 1992
C. 91992
D. fauraR 1992
#4258 M fowedl & 9 999 Uy SO 9T
1. Bdd A
2. HAAB AR D
3. HadA3RB
4. Sdd C

Options :

920906109569. 1
920906109570. 2
920906109571. 3
920906109572. 4

Question Number : 94 Question Id : 92090627728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandal tree is a
A. Root parasite
B. Semi root parasite
C. Stem parasite
D. Semi-stem parasite
Choose the most appropriate answer from the option given below :
1. Aonly
2. Bonly
3. Conly
4. Donly

Options :

920906109573. 1
920906109574. 2
920906109575. 3



920906109576. 4

Question Number : 94 Question Id : 92090627728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEADT g T ¢ -
A, T TSt
B. 31 Hd Wil
C. I 9airdl
D. 3f% ol UReidl
41 30 78 fashedi # ¥ ey IUged I g
1. A A
2. $ddB
3. dadC
4. Had D

Options :

920906109573. 1
920906109574. 2
920906109575. 3
920906109576. 4

Question Number : 95 Question Id : 92090627729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Specific physical places in the landscape is called
A. Nomadic place

B. Niche

C. Habitat

D. Meadow

Choose the most appropriate answer from the option given below :
1. Bonly

2. Conly
3. Donly
4. Aonly

Options :

920906109577. 1
920906109578. 2
920906109579. 3
920906109580. 4



Question Number : 95 Question Id : 92090627729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JEeg ¥ fafy Wifds R &) 7 eI @ -
A gHg
B. FAFa
C. 3™

D. T (e
a6 A fasedl & 9 a9 Iuge Sux g
1. $ddB
2. &ddC
3. dd D
4. Hdd A

Options :

920906109577. 1
920906109578. 2
920906109579. 3
920906109580. 4

Question Number : 96 Question Id : 92090627730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST Il
A. The Earth Summit l. 1987
B. Montreal Protocol Il. 1996
C. Geneva Convention I.1997
D. Kyoto Protocol IV.1992

Choose the correct answer from the options given below :
1. A-lll, B-lI, C-IV, D-
2. A-IV, B-l, C-lll, D-lI
3. A-IV, B-, C-lI, DNl
4, A-l, B-lll, C-ll, D-IV

Options :

920906109581. 1
920906109582. 2
920906109583. 3



920906109584. 4

Question Number : 96 Question Id : 92090627730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 IR 1 gAfdd S
il It il

A. 3 "ife (gt gwieE) 1. 1987
B. Hifcyd Uicihld Il. 1996
C. SFdl HdH . 1997
D. FIEI UIeidhid IV. 1992

1. A-lll, B-1l, C-IV, DI

2. A-IV, B-, C-ll, D-Ii

3. A-IV, B-I, C-Il, D-II

4. A-l,B-Ill, C-ll, D-IV

Options :

920906109581. 1
920906109582. 2
920906109583. 3
920906109584. 4

Question Number : 97 Question Id : 92090627731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

LIST LIST Il
A. Tanin l. Boswellia serrata
B. Gum Il. Pinus roxburghii
C. Resin 1. Tamarindus indica
D. Katha V. Acacia catechu

Choose the correct answer from the options giv
below

1. A-ll, B-lll, C-IV, D-
2. A-lll, B-l, C-1, D-IV
3. A-lll, B-Iv, C-|, D-l
4. A-ll, B-1, C-ll, D-IV

Options :

920906109585. 1
920906109586. 2
920906109587. 3
920906109588. 4

Question Number : 97 Question Id : 92090627731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | B gt 1 & gaferd Sifere:
Ll il
A. A . Srdifern /eeer
B. Mg . U Jeays
C. i . caisy 3i3%7
D. &l Iv. BRI Hg
1. A-ll, B-lll, C-IV, DI
2. A-lll, B-Il, C-l, D-IV
3. A-lll, B-IV, C-1, D-Il
4. A-lll, B-, C-II, D-IV

Options :

920906109585. 1
920906109586. 2
920906109587. 3



920906109588. 4

Question Number : 98 Question Id : 92090627732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST I LIST Ii
A. Terminalia arjuna |. Dry areas
B. Populus deffoides Il. Well drained areas
C. Acacia nilotica lll.Water logged areas

D. Azadirachta indica IV Sodic soil

Choose the correct answer from the options given below :
1. A-lll, B-I, C-ll, D-IV
2. A-lll, B-l, C-I, D-IV
3. A-IV, B-llI, C-lI, D-I
4. A-lll, B-1V, C-1, D-II

Options :

920906109589. 1
920906109590. 2
920906109591. 3
920906109592. 4

Question Number : 98 Question Id : 92090627732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | 1 1S gAfad i

Tl | il
A eifAfm s | b &
B. UTH Sccisled I, 3redt o Pt aran
C. iR FeeeEr 1. STel HRTd 9Tl &
D. USSRl 5397 Iv. HifE® gl
1. A-lll, B-I, C-Il, D-IV
2. A-lll, B-1I, C-I, D-IV
3. A-IV, B-lll, C-1I, D-|
4. A-lll, B-IV, C-I, DIl
Options :

920906109589. 1



920906109590. 2
920906109591. 3
920906109592. 4

Question Number : 99 Question Id : 92090627733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | LIST Il
A. Oil type I. ASCU
B. Water soluble fixed type ll. Borax boric acid
C. Water soluble leachable type Ill.Creosote coal tar
D. Fire retardant IV.Zinc chloride

Choose the correct answer from the options given below :
1. A-lll, B-1V, C-II, D-
2. A-Ill, B-1I, C-I, D-IV
3. A-Ill, B-l, C-ll, D-1V
4. A-l, B-ll, C-lll, D-IV

Options :

920906109593. 1
920906109594. 2
920906109595. 3
920906109596. 4

Question Number : 99 Question Id : 92090627733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | B gt 1§ gAferd Sifore:

Tt | gt
A. ddiid UHR @1 . oD
B. Wid H fdoid R u&R &1 Il SR S o
C. o ¥ faey Ry arel U U . fohdRiIe SiddR
D. 3l Hg® v, fois qarEs

A-lll, B-1V, C-lI, D-I
A-lll, B-1l, C-1, D-IV
A-lll, B-1, C-1I, D-IV
A-1, B-1I, C-111, D-IV

-l L



Options :

920906109593. 1
920906109594. 2
920906109595. 3
920906109596. 4

Question Number : 100 Question Id : 92090627734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean concept of Urban Forestry is/are -
A. Aesthetic development

Ornamental value

Microclimatic modification

Wildlife conservation

Ground water recharge

monNo

Choose the correct answer from the option given below :
1. Aand B only
2. A, BandConly
3. A B, CandD only
4. C,DandE only

Options :

920906109597. 1
920906109598. 2
920906109599. 3
920906109600. 4

Question Number : 100 Question Id : 92090627734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. Y& Saarg uidcd
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1. Had A 3B
2. $dd A B3R C
3. $ddA, B, C3RD
4. HIAC, D IRE

Options :

920906109597. 1
920906109598. 2
920906109599. 3
920906109600. 4



